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Ohm’s Law
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Faraday’s Law of Induction


	In AC theory, the ratio V/I is still measured in Ohms, but is called IMPEDANCE. It is represented by a complex number Z because, in general, as well as having a MAGNITUDE, there is a PHASE difference between V and I.
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V amplitude = V0
I amplitude =
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	Phase mneumonics:
	CIVIL    or    ELI likes ICE


	Resistor: V and I are in phase:

	Capacitor: V lags I by 90(.
Use operator -j to express this:


	Inductor: V leads I by 90(.
Use operator j to express this:



	
Independent of frequency:
	
Inversely proportional to frequency:

	
Directly proportional to frequency:
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